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Subtract

Subtract the following :
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Fill the correct numbers in the boxes :
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Fill the correct numbers in the boxes :
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Fill the correct numbers in the boxes :



Write the missing numerals \
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Write the missing numerals
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Tick (4) the correct option :
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% Fill in the blanks subtracting the following on

% the number line :
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Word Problems on Subtraction

1. Ramesh buys 5 toys. He gives 1 toy to his
brother. How many toys are left with him ?

% Solve and tick (4) the correct answer

VeI EE 2890 <



B8 &8 &S

2. Ashok has 7 pens. He gives 3 pens to his brother
Mahesh. How many pens does Ashok have now ?
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3. Sita has 6 dolls. She breaks 2 dolls. How many

dolls does she have now ?
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4. Mukesh has 6 eggs. 5 of them are broken. How
many eggs are left with him ?
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Take away 2 oranges \
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/Solve and tick (4) the correct answer : gg
1. There are 6 birds sitting on a tree. 4 birds fly

away. How many birds are left on the tree ?
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ﬁA juggler has 7 monkeys. 5 monkeys run away.
How many monkeys are left with the juggler ?
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ﬁMukeSh has 7 apples. He eats 2 apples. gg
How many apples are left with him ?
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sister. How many erasers are left now ?
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mow many birds are left now ?
None is written as zero (0).

1. When we subtract a number

from itself, the result I1s zero.

2. When we add O to a number,
the number remains same.
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/Fill In the boxes : \%g
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/Fill In the boxes : \%g
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/Fill In the boxes :
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/Fill In the boxes : \%g
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